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Attempt all questions Defe = 9-12-12
Time = 9.AH o {[ AM..

1. Parliament of Nepal is called

A) Majlis B) Panchayat C)Parliament D)Jatia sangsad
2. Capital City of Bhutan

A) Hamilton B)Thimphu C)Dhaka D) Canberra

3. The author of Panchatantra is

A) Kalidas B)Tulshidas C) Valmiki D) Vishnu Sharma

4. Who is the author of the Book “India Wins Freedom?”

A) Jawaharlal Nehru B) Maulana Abdul Kalam Azad C) Subhas Chandra Basu D) None of
these

5. Who is the Supreme Commander of the Armed Forces of India?

A) Chief of the Army Staff B) Prime Minister

C) President of India D) Defence Minister

6. Which of the following is not a fundamental Right?

A) Right to freedom of speech B) Right to work, education and public assistance
C) Right to freedom of Religion D) Right to form associations

7. Head Quarters of World Health Organisation (WHO) is at

A) Washington B) New York C) Geneva D) Swizerland

8. Who is the present Chief of Army Staff?

A) V K Singh B) Bikram Singh C) Joginder Jaswant Singh D) S K Singha

9. Who can initiate impeachment proceedings against the president of India?

A) Only Loksabha B) Rajya Sabha C) Any Bidhan Sabhas D) Either House of
Parliament

10 INTERNET is

A) International network of narcotic smugglers
B) Inter State network of Nations
C) Computer based data bank and communication high way



D) None of the above

11. Who is the present Indian Judge in the International Court of Justice?

A) Raghunandan Singh B) Nagendra Singh C) Dalveer Bhandari D) S. H. Kapadia
12. Total membership of Security Council is

A)5 B) 10 €)15 B)20

13. The author of ‘War and Peace’

A) Leo Tolstoy B) Aldous Huxley C) Charles Dickens D) Adam Smith

14. Which is the lightest Gas?

A) Xanon B) Helium C) Hydrogen D) Radon

15. Who is the first Indian to get the Nobel Prize?

A) Raja Ram Mohan Roy B) Sir C V Raman C) Mrs Sarujini Naidu D) Rabindra Nath
Tagore

16. Blood deficiency is referred to as

A) Leucoderma B) Leukemia C) Anaemia D) Haemophilia
17. How much blood does a man have in his body?

A) 4% B)10% C)7% D) 18%

Directions: - Under each of these questions, alternative answers are given. Choose the
correct one.(Q No-18 to 24)

18. Which choice provides the answer in the following relationship?
Flower is to Butterfly as Dirtis to ................. ?
A) Mosquito B) Fly C) Bugs D) Rats

19. A and B are born of same parents .C is the father of A but B is not C’s son. What is B
to C

A) Step son  B) Nice C) daughter D) Step daughter

20.Ravi went towards east 8 k m straight, then turned right and went 3 k m straight
then again turn right and went 12 k m straight. At what distance he is now from the
starting point?

AY6km B) 10km C)5 km D) 8k m
21. Book: Author: statute:

A) Mason B) Painter C) Calligraphist D) Sculptor



22. On another planet, the local terminology for ‘earth’, ‘water’, ‘light * air’ and sky are
‘sky’ light, air, water and earth respectively. If someone is thirsty there, what would he
drink?

Ans:- A) Light B)Water C) sky D) dust

23. If SCORE is coded as 26341, and RUNS are coded as 4792, how can NURSE be
coded?

A) 96431 B) 97421 C) 92731 D) 92317

24. Aunt is to Uncle as mother is to.......

A) beautiful B)lady C) affectionate D) father

25. Longest river in the world?

A)Nile B) Amazon C)Mississipi-Missouri-Red Rock D)Yangtze
26 Largest glands in human body is

A) Liver B) Lymph Glands C) Pancreas D) None of the above
27. The Currency of Italy is

A) Rupee B) Peso C) Yen D) Lira

28. The term “penalty corner” is associated with

A) Hockey B) Polo C) Cricket D) Badminton

29. With what game is “Davis Cup” associated?

A)Lawn Tennis B) Badminton C) Table Tennis D) Hockey

30. Nobel Prize were instituted in

A) 1905 B) 1901 C) 1946 D) 1941

31.Bhartiya Jnanpith Award is given to

A) Best Scholar in Hindi B) Best Person C) Best Writer in India D) Best Teacher.
32. What is meant by a “Court of Record?”

A) The court that preserves all records

B)The court that maintains records of all lower courts

C) The court that can punish any one for its contempt.

D) The court that is competent to give directions and issue writs
33. Which one of the following taxes is progressive tax?

A) Income tax B) Custom Duty C) Sales Tax D)Excise Duty



A)1,2and 4 are correct B)1 and 3 are correct

C) 2 and 3 are correct D) 3 and 4 are correct

59. Which of the following are trade bibliographies?

1) Books in pri_nt 2) Indian National Bibliography

3) Indian Books in print  4) British National Bibliography
A) land 2 is correct B) 2 and 3 are correct

C) 1 and 3 are correct D) 2 and 4 are correct

60. Which of the following are maintained to provide Selective Dissemination of
Information (SID) service?

1. Author Profile 2.Library Profile

3. Document Profile 4.User Profile

A) land 2 is correct B) 2 and 3 are correct

C) 3 and 4 are correct D) 1 and 4 are correct

61. Which of the following are modes of formation of subjects?
1. Classification 2.Agglomeration 3.Denudation 4.Division

A) land 2 is correct B) 2 and 3 are correct

C) 2 and 3 are correct D) 2 and 4 are correct

62. Non-Sampling Errors (NSE) are referred as the errors of:

A) Probability B) Quantification C) Ratio D) Measurement
63. The libraries identified by INFLIBNET to act as document delivery Centres are:

1. University of Hyderabad Library 2.Lucknow University Library

3. Gauhati University Library 4.Punjub University Library, Chandigarh
A) 1 and 2 are correct B) 1 and 3 are correct
C) 1 and 4 are correct D)2 and 4 are correct

64. What is meant by AGMARK?
A) Farmers’ cooperative B) A Cooperative for egg Production

C) Regulated egg Production D) A Quality guarantee stamp for commodities like
egg,ghee, honee etc.

65. What is the primary role of NABARD?

A) To assist state Governments for share contribution



B) To act as a refinance institution

C) To provide term loans to state cooperative Banks.

D) All these

66............ has the largest percentage of persons below the poverty line.

A) Rajasthan B) Bihar C) Uttar Pradesh D) Kerala

67. National Income refers to...............

A) revenue of Public undertakings

B) governments annual revenue

C) sum-total of all incomes

D) budget estimates

68. Foreign Direct Investment (FDI) in India has shown a distinct preference for................
A) Software Industry B) The core and infrastructure sectors
C) Fast Moving consumer Goods (FMCG) D) None of these

69. What is the difference between Reserve Bank of India and other Banks?
A) Issues foreign exchange  B) Acts as banker to the government
C)Issues agricultural loans D) Finances sick Industries

70. Who appoints/elects the judges of the Supreme Court?

A) Appointed by the President on the advice of the parliament

B) Appointed by the President on the advice of the Prime Minister

C) Elected by the parliament.

D) Appointed by the President on the advice of the Chief Justice of India
71. The Ordinance issued by the governor are subject to approval by.........
A) the president B) the State Council of Ministers

C) the State legislature D) all the above jointly

72. A money bill duly passed by the Lok Sabh can be held up by the Rajya Sabha for a
period of maximum........

A) two days B) Six months C) Three months D) Fourteen days
73. Which country has the lengthiest constitution?
A) USA B) UK C) Canada D) India

74. Why is India called a Republic?



A) the head of the state is elected by the people B) there is parliamentary supremacy
C) there is an independence of judiciary D) None of these

75. Which new country was created after the Indo Pak War in 19717

A) Afghanistan  B) Bangladesh C) Myanmar D) Sri Lanka

76. The Indian constitution was adopted by the:

A) Governor General B) British parliament

C) Constituent assembly D) Parliament of India

77. Rajya Sabha has a life of:

A) 2 years B)6 years C)7 Years D) permanency

78. Secularism means:

A) suppression of all religions B)freedom of worship to minorities

C) Separation of religion from state D) a system of political and social philosophy that
does not favour any particular religious faith.

79. Which Article of the Constitution envisages free and compulsory education for
children up to the age of 14 years?

A) Article 45 B) Article 19  C) Article 29 D) Article 32

80. Which of the following writs may be issued to enforce a Fundamental Right?
A) Habeas Corpus  B) Mandamus C)Prohibition D)Certiorari

81. English is the official language of which of the sates?

A) Manipur B) Nagaland C) Karnataka D) Andhra Pradesh

82. The state is expected to provide free and compulsory education to all children up to
the age of ............ under the Directive Principles of State policy.

A) 14 years B) 16 Years C) 18 years D)15 years

SR IE— Is the 28th State of the Union of India

A) Uttarkhand  B)Chhattisgarh  C) Jharkhand D)None of the above

84. The president can be impeached under............ of the Indian Constitution

A) Article 76  B) Article 376  C) Article 75 D) Article 61

85. Which one of the following statements is true about Prime Minister?

A) Not a member of parliament B) The leader of the majority party in the Lok Sabha

C) The senior most member of parliament D) a close friend of the President



86. Which among the following metals was first used by man?

A) Iron B) Gold C) Copper D) Diamond

87. In a room, crowded with too many people

A) Oxygen decreases and carbon dioxide increases

B) Oxygen decreases and carbon dioxide decreases

C) Oxygen increases and carbon monoxide increases

D) Both Oxygen and Carbon monoxide increases.

88. Which one of the following is dance drama?

A) Kathakali  B) Odissi ~ C) Bharat Natyam D) Manipuri

89. During India’s Independence, the party in power in Britain was

A) Labour Party B) conservative Party C) Marxist D) Prograssive
90. The oldest mountain is

A) Aravali B) Satpura  C) Vindhya D) Himalaya

91. Walking on Ice is more difficult than walking on concrete because ice
A) Gives less friction; B) gives more friction

C) Ice is very cools and as such bloods gets frozen up

D) Being soft, one can get bogged down into it while walking

92. “Greenhouse effect” with respect to global warming refers to

A) Cooling and moist condition B) Warming effect

C) Increased rainfall and greenery D) desertification

93. Which one of the following is not an excretory organ?

A) Lung B) Skin  C) Kidney D) Small intestine

94. The great Indian Bustard is found in

A) Madhya Pradesh B) Assam  C) Rajasthan D) Nagaland

95. Which among the following is not a member of UNO?

A) Bahamas B) Mauritania C) Dominican Republic D) Switzerland

Directions (Qs 96 to 99): each of the following items consists of a word in capital letters,
followed by four words or groups of words. Select the word or group of words that is
most similar in meaning to the word in capital letters.

96. KNAVE



A) Novice B) Dishonest C) Futuristic D) Traditional

97. DELECTATION

A) Caution B) Entertainment C) Reward D) Composure

98. CIRCUMSPECT

A) Gloomy  B) Cautious C) Reckless D) Dark

99. PROFANE |

A) Artistic B) Clean C) Concealment D) Obscene

100. Which Stadium is called the ‘Mecca’ of cricket?

A) Sabina park (West Indies) B) Old Trafford (Manchester, England)

C) Lord’s (England) D) Wankhede Stadium (Mumbai, India)
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